Ratio to ATLAS

107

[EEY

0.5

13000 GeV pp
L B B I

] I N L N BN BN I )
3
ttHT (ATLAS semileptonic ttbar) o
= —
— mlye
- — N
B o
— —{<
o |
~——E ™
ﬁ l\ ©
— ” \, —.=
= % pad
E £ w\\ E
B e
)
= RER dm
- . o
- 1O
- ™M
—
B .=
— — %
B ATLAS %
= --O-- Herwig++ 2.7.1 default =
— \\ p— C
— --4-- Herwig 7.2.1 default \g o
| )
%)
B 1o
— —Ha
(&)
| —1 | | | | | | | | | | | | | | | | | | E
:l T T T T | T T T T | T T T | T T T T |:
— =2
- - ] R El |
- ---E
L @__@:’_,@___@ — _
R B AR 1
I c ]
L —0.5
| " 1 1 1 1 " | " 1 1 " 1 1 " | " 1 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 500 1000 1500 2000

Hr "} [GeV], N = 4



	Contents
	Page 1


